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=3 Vs GsZEA
114 No Block 871
2571 7 07H 1 Block 207H / O7H
13574 / 874 2 Block 11770 7 674
07 7 07H 3 Block 270 7 07
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270 7 171(50.0%) No Block 474 7 174(25.0%)
1470 /7 57H(35.7%) 1 Block 1870 /7 97H(50.0%)
957H / 427H(44.2%) 2 Block 11870 7 4771(39.8%)
270 / 170(50.0%) 3 Block -
*BHNE / EE (83E)
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> EIHE
E AE %53 AlZERE ol =42
MBS 27(54.0%) 4(08.0%) 4(08.0%) 13(26.0%) 1(02.0%) 1(02.0%)
ME =2 34(54.0%) 15(23.8%) 1(01.6%) 10(15.9%) 2(03.2%) 1(01.6%)
oA 61(54.0%) 19(16.8%) 5(04.4%) 23(20.4%) 3(02.7%) 2(01.8%)
* BANE (BHREHB)
> GSZEA
E AE %53 AlZERE ol =42
MIET 2| 21(36.2%) 18(31.0%) 4(06.9%) 1(01.7%) 0(00.0%) 14(24.1%)
MNEZ2| 43(52.4%) 32(39.0%) 4(04.9%) 3(03.7%) 0(00.0%) 0(00.0%)
oA 64(45.7%) 50(35.7%) 8(05.7%) 4(02.9%) 0(00.0%) 14(10.0%)
*SANE (SHREH8)
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= HE He
o gy &2 % B | #s | SME | MME | g | SE | aF cug oz
1 GSZEIA 100.00 3 0 3 9 2 4.500 251 208 1.207 35
2 s34y 0.00 0 3 3 2 9 0.222 208 251 0.829 30
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